BEECH JACK

°Plans
o Materials List

For additional copies, contact:
N.W.C.S.
P.O. Box 8130
Coburg, OR 97401
503/995-8356




Beech Jack

Materials List:

drawing reference quantity size name
A 2 46” x 212" x 212" 1/4” square tube (forward base legs)
B 2 45 1/2” x 22" x 2%2”  1/4” square tube (base cross beams)
C 2 39 1/2” x 22" x 2¥2”  1/4” square tube (rear base beams)
D 2 3 %" (minimum ) x 2 x 1/8”  angle (leveler arm bracket)
E 1 44 3/4” x 2 2 “x 2 V2 “x 1/4” square tube(lifting arm cross beam)
F 1 44 3/4” x 1 %" x 1/8 * square or round tube(top lifting arm beam)
G 2 27" x 3" x 3/8” flat plate ( lifting arm side plate)
H 2 47" x 3” x 3/8” flat plate (yoke)( 47 specified, | used 48”)
I 1 257" x 3” x 3/8” flat plate(rear leveler arm) (25%2"specified,| used 26 1/2”)
J 2 3%2“x1” shafting or rod (Jack Points)
K 1 22" x 3/14” rod (Safety rod)
L 4 13/4”x13/4“x3% 1/4” angle ( hydraulic jack base)
L-1 1 13/4”x13/4“x3" 1/4” angle
L-2 2 13/4”x13/4“x2%" angle
M 1 4”x 4" x1/4” angle ( rear fuselage fitting)
N 1 3" x 3/8 “or 1/4” plate (rear fuselage fitting side reinforcement)
O 1 4”x 2 %" x 1/4” (lifting arm jack point)
P 1 4” X 17 x 1/8” strap  (lifting arm jack point)
2 straight wheels (of appropriate weight bearing strength)
1 caster wheel (of appropriate weight bearing strength)

hydraulic 3 ton capacity jack 9” high

(all bolts grade 8)

2
1
1
2
2
4
4

4

Primer and Paint to suit.

2" x 17 grip bolts

3/4” x 17 grip bolt

3/4” x 1 2 “ grip bolt
3/4” x 2 5/8” bolts

2" x 3/4” bolts

¥2” nuts

3/4” nuts

¥2” washers

3/4” washers

3/16” x 1” bolts and nuts



NeL g

AL AL

Hieg

Z?NX(;/(\/) //é

=

—

‘>/7(7LL

S

Qom/o/eﬁ‘?i; Uee K. @

NTe,  all  Holes Borey
AT CeqTer of Tem exossy

L s i bevaleir Gim atlae v,
———— )

B/ ZA?ZZ/ )ﬁw’\?

QB:»{__,; /7 s
= p

::3::
< X
e
& -
&
AY
AN
i
i
>
m\




\70 Fe L;,C‘f;',\?/

/‘(,'2/".‘/—’4_11 7’<E) | ’: T ; (;)Q _i_

Dig. | L A >
e : b __341"//0/;\
g f?eqr BohTs —

|
i

|
1
'

I
i %J’ Corse THreof BokTr

"

—— @ <«—% "Dia. Hole.

~J

A




)s nﬁ* on CCn')et\}n(
6% aix Plae

¢




;Reor Levezer ./4)"7’1os

BRI N &

| Qe
| o Pl




‘ ‘\ {ee /Vo\f"e

Q |,

| N RN
Y 257 T

~
.
»\

s @_/7

AL_:‘:-_ %I/DI(OO___M&J———— -

Ekn -
j -— . ] : ,
RS Jok  PeigTE ; | L}J%L — >0
‘\Q ,[}(j//}:“ /\dl.Nn >,"
$ FRoNT
)k’ /\/07'-6 - Hole oT Re ] 019
o atfe Lo 0] Y
;:j 1(/010, >h - .'o'”‘“
o ) | v >
A2 Xﬂka/'f' vawo /vbke, /.j
| " . (D)



L'f’TL(/; Arm.

| | 4:ﬁ\‘

T @

Rovnd o0+ Sxqvorey T Ubw.

See /Vo "

J\\gﬁ" TN | | Q
b i

iix Ih ¥y Sguere Tob,

7 -
' o ¥y, |
ﬁ 1\ i SR
g <. ’ié,'f” - ]
_— Bo77"07r]-
/)_3/"( : .‘\(
Ve )\3
(/\M_! P
0 %"pis

: Holesy
|

3y .
ﬁ/ Dia. Holc:g/.r




	Beech Jack plans
	Beech jack 4
	Page 1

	Beech jack 5
	Page 1

	Beech jack 6
	Page 1

	Beech jack 7
	Page 1
	Page 2

	Beech jack 8
	Page 1

	Beech jack 9
	Page 1

	Beech Jack 10
	Page 1


